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Part one: vocabulary
Directions: Complete the following sentences by using the most suitable word or phrases below each one,

121.

122.

123.

124.

125.

126.
127.
128.
129.
130.
131.
132,
133.
134.

135.

el U5

Drug errors .....ccvveenee a high percentage of otherwise preventable death,
a. diminish with b. depart from ¢. conform to d. account for
Through an insurance plan, the insured person receives payment for the covered expenses and

then ......ccovavvaees the provider of health services.
a. resolves b. retains c. reimburses d. represents

In spite of a long interview with the patient, the doctor failed to ........ the required information.
a. emit b. elicit ¢. encounter d. embarrass

Efforts to preserve both plant populations and knowledge on how to use them for medicinal
purposes are needed to ............. traditional medicine as a profession,
a. obtain b. remain c. sustain d. contain

Traditional medicine practices have been adopted in different cultures and regions without the

parallel advance of international standards and methods for ................
a. initiation b. evaluation c: association d. contamination
The discovery of the drug was the result of several years of ..... Bevreone not chance.
a. complication b. cessation c. inquiry d. impotency
Therateof .....ccvvnnernnnns is higher among newhorns who are premature.
a. mortality b. survival C. promotion d. distraction
Some experiments have shown that ............ . may work as well as real medicines.
a. dispersers b. injections c. disposables d. placebos
His new theory was ............ .. as he was unable to provide enough evidence.
a. adopted b. refuted c. endorsed d. advocated
There is no need for such ..... cararessounns devices; ordinary and simple tools can do the job well.
a. sophisticated b. rudimentary ¢. crude d. redundant
Good health in this area is the result of the ............. introduced by health officials.
a. disputes b. complexities c. obstacles d. measures
When somebody ................ a responsibility, he/she has to try to do his/her best to do it well.
a. assumes b. rejects ¢. puts off d. gives up
The patient was relieved after the ............ of the new drug.
a. administration b. accumulation ¢. investigation d. transmission
He did not do anything new; his experiment is a/an ............ of what others have already done.
a. replication b. distortion . orientation d. distraction

Today, there are more than five million people in the United States alone who are addicted and
dependent on painkillers or similar ............. .
a. incentives b. clamps c. anesthetics d. opiates
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136 . Medical genetics is the specialty of medicine that involves the diagnosis and management of

............ disorders being passed genetically.
a. hereditary b. conformity c. affinity d. supplementary
137 . Tennis elbow is a painful condition that occurs when tendons in your elbow are overworked,
usually by .....cocvenen. motions of the wrist and arm.
a. crucial b. soothing c. beneficial d. repetitive

138 . Not only does television promote snacking and take up the time that could better be spent
exercising, it turns out to have another .............. .... effect on weight.
a. ambitious b. precious c. contagious d. hazardous

139 . Normally, it’s the immune system that protects the body against disease by searching out and

destroying foreign ............ , such as viruses and bacteria.
a. incisions b. invaders ¢. increments d. reformers
140 . The results of the investigation, although .......... , suggest a possible relationship between low
level of antioxidants and diahetes.
a. eminent b. inconclusive c. definite d. impressive

Part two: Reading comprehension

Directions: Read the following passages carefully, Each passage is followed by some questions. Complete the
questions with the most suitable words or phrases (a, b, ¢ & d) below each one. Base your answers on the
information given only.

Passage 1

Iet’s consider the hypothetical case of a physician who has been prescribing a variety of drugs for patients
with high blood pressure. He has read about each in the medical literature, and has also recently seen articles
about calcium channel blockers. But he realizes that he has only an impressionistic sense of how well the
medications he currently uses are functioning; adding one miore may well create more confusion than
anything else. However, he certainly does not want to discount any new drug which may aid his patients. He
realizes that laboratory studies, while obviously significant, are not the same as systematic observation of
what is happening to his own patients. What he really wants to know is how the drugs he is currently using
are affecting his patients, so he can draw some of his own conclusions about whether any one of the
medications was more effective, and if so, in what specific context. This could also suggest the conditions
under which the new calcium channel blockers might be worth trying. Keeping records on paper, and
calculating the data by hand, seems simply more demanding.

141 . The passage implies that physicians should be more ....... in their prescriptions.
a. objective b. laboratory-oriented c. text-oriented d. subjective

142 . Keeping records on paper and then calculating the data by hand is considered ........ .
a. an improper solution to prescribe
b. as another challenge for the physician
c. as totally unadvisable by physicians
d. an alternative to doctor’s prescription

143 . The author suggests that physicians .............. .
a. should prescribe inexpensive medicines
b. should not undervalue new medications
¢. must be limited to laboratory-approved drugs
d. must not prescribe calcium channel blockers

144 . We understand from the passage that the author values lab drug investigations .......... .
a. more than other research methods

A b. less than his patients’ reactions to drugs :
< ¢. more than systematic observation of patients _ QP’
" d. less than his impressionistic. sense.of drugs ¥3 e
‘S\Q_ o (] i ?

e ) \226
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Passage 2

Approximately one in four Americans will suffer from a neurodegenerative disease, and virtually all
Americans will have a family member with one of these conditions.

Unfortunately, the underlying mechanisms of neurodegeneration - and how they lead to disease - are not well
understood. The complexity of these diseases makes it impossible for any single scientist to find the cause or
cure. Instead, it will require an integrated, collaborative, interdisciplinary approach - involving interactive
groups of scientists and clinicians - to make headway towards cures. This was the vision of Drs. Michael
Zigmond and Robert Moore when they approached the Scaife Foundations with their idea to create the
Pittsburgh Institute for Neurodegenerative Diseases (PIND).

The PIND brings together in one place scientists and clinician scientists from diverse disciplines and
perspectives - and several School of Medicine departments- to collaborate on studies of neurodegenerative
disorders. By virtue of both philosophy and architecture, the PIND is a center where there are no walls
between individual scientists, and where there are no barriers between basic scientific inquiry and translation
of the latest findings into new treatments. As such, the mission of the PIND is to transform cutting-edge
science into novel therapies and diagnostics that directly benefit individuals affeected by neurodegenerative
diseases, such as Parkinson’s disease, Alzheimer’s disease, and stroke.

145 . The first sentence deals with the ................... of neurodegenerative disease in America,
a. magnitude b. interactivity ¢. hazards d. treatment
146 . The main cause of neurodegenerative disease is ............... .

a. recently understood
b. not so significant

c. yet to be i1dentified
d. about to be declared

147 . A breakthrough in understanding the underlying mechanisms of neurodegeneration .........
.interdisciplinary teamwork.
a. has little to do with
b. should be limited to
c. has already been reported by
d. would involve

148 . Drs. Michael Zigmond and Robert Moore have been referred to for .......... censees towards cures.
a. making headway
b. funding the Scaife Foundations
c. proposing an interdisciplinary approach for interactive group work
d. closing up the Pittsburgh Institute for neurodegenerative disease

149 . The PIND has been successful in ...........
a. finding a cure for neurodegenerative disorders
b. setting up diverse disciplines in schools of medicine
c. promoting collaborative studies of neurodegenerative diseases
d. finding a conclusive cure for neurodegenerative disorders

150 . Philosophy and architecture ............... a barrier-free atmosphere in PIND .
a. have paved the way for
b. serve as obstacles for
c. remain independent of
d. are among the byproducts of
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Passage 3

The underground railway stations’ air, like that found in weldmg factories, has a higher proportion of
airborne metals, and is more damaging than normal air for two reasons. First, because its particles are very
small, when you add them all up, for the same amount of metal contained, they present a much larger surface
area for contact compared to their volume than the larger particles. Second, the small particles penetrate
deeper. The dust in the air comprises coarse particles (between 2.5 and 10 micrometers) called PM10
(Particulate Matter up to 10 micrometers in size), fine particles smaller than 2.5 micrometers, and ultrafine
particles which are smaller than 0:1 micrometers. Compared to coarse and fine stations’ particles, little is
known about the chemistry of particles smaller than 0.} micrometers. We know that coarse particles don’t get
further into the body than the nasal passages and the bronchi, while fine dust reaches the smaller airways (the
bronchioles), and ultrafine dust reaches the deepest lung areas into the alveoli. There is also a suggestion that
ultrafine dust may penetrate the underlying tissue and the bloodstream and damage not only the airways but
also the cardiovascular system, liver, brain and kidneys.

151 . Based on the information presented in the passage, the stations’ air ............ :
a. contains more coarse metal particles than normal air
b. contains more metal than welding factories and normal air
¢. and welding factories’ air have high amounts of metal dust
d. and normal air have almost equal amounts of metal dust

152 . According to the amthor, the air in underground railway stations is more damaging than the
normal air, because it contains ...............
a. more airborne metal than that found in factones
b. as much ultrafine particulate matter as do welding factories
c. more airborne metal ultrafine particulate matter
d. much more coarse and fine particulate matter

153 . Based on the classification of the passage, a particle of around 1 micrometer would be considered as e
a. small b. coarse c. fine d. ultrafine

154 . The author is perhaps still uncertain about the underground railway station’s causing damage to the .... .

a. heart b. alveoli ¢. nasal passages d. smaller airways
155 . Among the different types of particalate matter, ........ particles are still the most unknown.
a. coarse b. fine c. ultrafine d. small
Passage 4

Smallpox has a number of unique characteristics which made its eradication possible. Its symptoms develop
quickly, making those infected aware of the disease at an early stage and reducing the possibility of them
unknowingly transmitting the disease to others. Because it 1s almost completely specific to humans, there is a
very low possibility of smallpox being kept alive in animals to reinfect humans. The availability of effective
vaccines was also a necessary factor. Finally, the high level of mortality from the disease made it easier to
achieve global agreement on its eradication.

Although smallpox has ceased to kill, it remains a potential danger to humanity. Though the possibility of the
virus surviving in animals is very low, it is still a possibility. So, too, is the accidental release of material
traditionally used for variolation in remote communities. However, the most pressing fear is that stocks of the
variola virus set aside for research purposes could some day be used as a biological warfare agent. The
proposal, in 2003, to inoculate health care staff in some countries against such a possibility shows that the
potential of smallpox to kill remains as strong as ever.

156 . The possibility of the eradication of smallpox was due to its..........oeenvoe .
a. low morbidity rate
b. distinct and specific features
c. high rate of reinfection of people and animals #
% d. lack of noticeable symptoms A
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157 . At an early stage of smallpox, most patients .................. .
a. become more vulnerable to death
b. seem likely to transmit the disease
c. manifest the disease symptoms
d. tend to move to remote communities

158 . All of the following can be the potential causes of the spread of smallpox except ............. TR
a. rapid transmission of the disease at early stages
b. the available stock of variola virus in research centers
c. the possibility of virus surviving in animals
d. release of its virus used for variolation

159 . Inoculation of health care staff is performed because ........ veenves .
a. smallpox is prevalent in some regions
b. eradication has failed in some countries
c. the disease is completely specific to humans
d. the disease can still pose a threat to humans

160 . The accidental release of variolation material ............ !
a. 1s predicted in near future
b. can cause a major disaster
¢. is not a threat anymore
d. is unlikely to cause mortalities




